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Canada
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Australia

https://www.worldometers.info/coronavirus/#countries

Total New Total A
eaths Deaths ]
16 1382 +87 2424 8
3202 +5
215 10,361

345
81,340 +55 74,588 3,460
013
64,059 +6273 4934 +560 9,357 49,768
5,406 a7 3,367
32,332 +2926 23 144 821
29,155 1,696 4948 22511
885 759 135 3,64
500 207 897 20
9.332 +91 139 4528 4,665
8,601 172 546 3 8,054
7,557 +648 58 225 7274
1,049 289 858 6137
4,268 724 76 a3 149
4,043 39 228 3,776
19 6
3,629 75 26 3,528
3,180 +130 13 170 2997
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Risk Analysis
/
Risk Reduction Plan

Success criteria
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